In 1 km races, runner 1 on track 1 (with time 2 min, 27.95 s) appears to be faster than runner 2

on track 2 (2 min, 28.15 s). However, length L; of track 2 might be slightly greater than length S
L, of track 1. How large can L; - L; be for us still to conclude that runner 1 is faster? V= T,._
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A car travels from Zabrze to Katowice at a speed u=40 km/h and immediately returns at a speed
v=30 km/h. What was the average velocity speed of the car during the whole route?
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A jet of water leaves a water canon at an angle a.=30° to the horizontal with a speed of 15 < _ .\10 Stwvidol
After what time will it reach the height H=0.7 m from the level it leaves the canon? What velocity X e x 8

does it have at this point? Which maximum height will it reach and after what time? How far
from the canon does the water hit the ground and after what time?
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A body was launched horizontally from the top of a tower and it reached the bottom after time S
t = 2s at a distance of L = 10m from the base of the tower. Calculate the initial speed of the body, ¥
and speed with which is hit the ground. What was the height of the tower?
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A rod of length L rests its ends against the floor and a wall. The end A moves with a constant speed v
from the position shown in the figure. (a) Find the relationship of the y coordinate of end B over time,
(b) calculate the speed of point B.
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Problem 4
A point mass moves in a circle with radius B at a constant linear velocity v, Calculate and illustrate the
components of displacement vectors, average velocity, and average acceleration, as well as their lengths in
the subsequent phases of motion shown in the figure: S
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